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1. EH12 20bar, BN 100CHEREZEEDRE), ~AANBELRETEEER. B
B IITFRRS, BSAKSE, HHARFNERILE] 20bar, DA cp=1.005k)/ (kgK),
R, =0.2871k)/ (kgK), REDMFE[MBELEE: (1) FRIFMHITARS; (2) FHEFH
i 784 &S24 Sbar, REHR 100CHZS 2kg. (14 %)

2. SEEMARSHYEEREE, ESVELSECH p=0.1MPa. 1=17C , BFRE £=650C,
BEW 7 =6, MR TIECEETS BAKEE, BHZS cpo=1.005k)/ (kg'K), R;=0.2871kJ/
(kgK), WK: (1) fEFRGTRBEARE; (2) FHRNEE. FHRRERE: 3) HE
FHFENREEE N, REEF KRR I LR RARAIR D, (18 43)

3. RS WREWE, ERENEALENN 4X10° Pa, REEK 523°C, N 180 mis,
TN 0.003 m?, BHUAESR c0=1005J/ (kgK), R,=287.1J/ (kgK), #AK: (1) ZmALHIHE
1IEES; (2) ZAAMFERDHE: (3) BEHOANDHESET 1 1, Kzt O L8RE
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M.
p (bar) h'(kikg) | A" (Kkg) |
3 561.6 2725
6 670.7 2757
7 697.3 2763




